BEHM: ERR30F4A28 (A) ~FER31F2A288 (K)

BRABAREVMAICEZNTOOIRSEMEGRACOHER—ER

(Bifiz:Bq(A"ILL)/KQ)

"
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E F£|A|H mER | KFHE Ly L4134 €LY L137 | BUOLAE
1[30| 4|4 T3 Hoy FH F8 BREES(<7.1)| #BHEET(<6.2)| #HHET
2|30| 4|18| AE = R BT AR BREES(<7.1)| BHEET(<65)| HHET
3|30 4|23 Wx f=Iroc = R ET BH BREES(<7.9)| #BHEET(<6.7)| #HHET
4 30| 4|26| WL Oz | ZA#ME | FH B9 (<5.2) 11.10 11.10
5|30 4|26 [ITES CLHAL | ZARH N i 97(<9.6) BMEE9(<8.3)| HmHEET
6 30| 4 |26| WE 2SO HF HLFRET EN:] 6.50 BRHE(<6.9) 6.50
7 (30| 4|26 % ZLHAD HLFRET EN 14.40 154.60 |  169.00
8|30| 5|1 ITE3 f=Iroc = R T NE BREES(<7.2)| #BHEET(<6.3)| ##HHET
930|5]| 1| ZLHAD = R T =4z 50.90 439.90 |  490.80
10|30| 5| 2 1T f=Iroc HLFRET TER BREEY(<4.8)| #BHEET(<42)| #HHET
11(30| 5| 8 1T Eol>Y0N = R T S BREEY(<9.1)| #HBHEET(<84)| ##HHET
12|30| 5| 8 LS h&E E R HET S BREES(<7.7)| #BHEET(<7.0)| HHET
13|30| 5| 8 B 25 = R T S BREES(<7.8)| #HHEET(<6.8) ##HHET
14|30| 5|10 UE pZI A = R T &L BREES(<8.9)| #HHET(<7.8) ##HHET
15(30| 5 | 16| IUE f=Ito =R AT TER BREES(<7.6)| #HHEET(<65)| HWHET
16|30| 5 | 28| B N /N E R HET S BREES(<9.1)| #HBHEET(<7.6)| HHET
17|30| 5 |28| BH% RIRE = RET B BREES(<9.5)| #HmHEET(<8.1)| ##HHET
18|30| 5 [28| H% EP N} & R ET S BREEY(<9.3)| #HHET(<83)| #HHET
19|30 5 |28 EHx EhE = R T S BREES(<8.7) #HHEET(<7.1)| #HHET
2030 5 28| EHx Z+HXR | ERHE S BREES(<9.8)| #HBHEET(<7.8) ##HHET
21|30 5 |28 EHx SPRAES | ERET S BREES(<9.8)| #HHEET(<84)| #HwHET
22|30 5|30 Iu¥E 7% = R T B H BREES(<83)| #HMHET(<75)| ##HHET
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2330 5|30 L% 7% = R BT pRHE BRHEEY(<8.9) #HMHET(<88)| ##HHET
24130 5 31| %HE K E R HET wRAER BRHEEY(<8.8) #HMHET(<8.0)| ##HHET
25|30| 5|31 %HE RIRZFE E R HET wRAER BRHET(<18.4)| HRHET(<14.3)| BRHETS
2630 5|31 Hx 74NN = R BT EH BREET(<7.2)| #BHEET(<6.1)| HHET
27|30 5 31| Hx F>3NAZES | ERHET BH BRHET(<15.2)| #HWHET(<12.1)| BRHES
2830 6 |12 Hx EhRE = R T SRH BREEY(<9.2)| #HMHET(<8.8)| ##HHET
29|30| 6 |12| BHE ==y = RHET SRHE BHEY(<10.0)| BRHEET(<9.8) HHET
30(30| 6 |12 B TSE E R AT SRHE BREES(<7.8)| #BHEET(<7.0)| #HHET
31|30| 6 |14| %Hx EwiY E R AT S BRHEEY(<5.8)| HBHET(<5.3)| ##HHET
32|30| 6 |14| %Hx Conrg = RHET S BREEY(<9.5)| #HBHEET(<9.1)| ##HHET
3330 6 |19 Hx Cohilrd = RHET SRHE BRHEEY(<8.9) #HHET(<86) ##HWHET
34|30| 6 |19 %Hx EsY E R HET SRH BREES(<7.7)| #HBHEET(<65)| #HHET
35(30| 6 |19| Zofts 7k = R AT RHE ND ND| #HEd
36|30| 6 | 25| ®HE é¢§g§5'4 E R ET 2H BHEEF(<75) BREETF(<7.3)| BEELT
37|30 6 |26 e iz = R HET Ly BREET(<74)| RBREET (7.1 HHET
38|30| 7 |10| &= 3R SYTHT [eipe BREEY(<9.6)] #MHEET(<94) BRHEET
39(30| 7 |18| HE CeAng | ERAET MR BHE9(<6.1)| BHEET(<52)| BRHET
40(30| 7 | 18| B ANl = R ET MR BRHEET(<83)| HRHET(<7.0) WHET
41(30| 7 | 18| B Cedirg = R ET INR BRHEET(<5.5)| HRHEHET(<4.9)| WHET
42|30 7 |18| HE By e MR BREET(<5.7)| RBRHEET(<4.2)| BREET
43(30| 9 | 12| L fziFD = R AT ZES BEET(<8.6)| #HmHEET(<7.8) HWHET
44130 9 |12 1T */a t4EHET N B+ 9(<6.6) 100.00 100.00
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45(30| 9 | 21| ZoH #* ES:g Ligg B9 (<24.2)| REET(<19.6)] BREET
46|30 9 | 25 E = = R AT I BEE(<8.8) RHEET(<7.5)| HBEET
47(30| 9 | 25 iz */0 S YTHT N BRHE9(<7.1) 41.50 41.50
48130 9 | 27| U */a FEm E ILET 222.60 2251.30 [ 2473.90
49(30|10] 1 (172 */2a (ALY N BREEY(<12.0)] ®WEET(<9.9) HHEELT
50(30(10| 2 | i */0 S AF AT EN 26.20 188.70 |  214.90
51(30|10| 3| i ¥/ FiEW | ELE 293.60 2945.40 |  3239.00
52(30(10| 15| U /3 EBER) TEA 32.80 401.00 433.80
53(30(10|16| &= i 3] R BRHEET(<7.2)| ®RHEEF(<6.7)| WHET
54|30|10|17| L% */a = G HT T~H 492.30 4490.10 |  4982.40
55|30| 10| 29 RB= i FEH 21| BT BEEY(<11.1)| BEET(<10.2)| H®EET
56301029 BR=E i fFET 2187 BRHEET(<9.7)| RBREET(<8.7)| WHET
571301029 &= fii REM 21187 BRHEET(<9.0)] BREET(<9.3)| WHET
5830 (11|13 B§R=E i = R BT AEH BEET(<10.7)| #MHEET(<104)| HWHET
59(30|11| 14| %0t FALA = R BT =3 B E9(<8.7) BREET(<8)| BREET
60|30|11|26| &= i fFET 2187 BRHEET(<6.4) HRHEF(<5.9) WHET
61(30|11|26| %t b A X T 2211 BT BRHEEY(8.2)| BRHET(<74) BREET
62|30|11|26| &= i RiE 21187 B 9(<8) BrHEES(<7)| BREET
63|30 12| 3 | Zoit B A IFH = RET B BEET(<6.8)| #HmHEET(<6.3) HWHET
64(30| 12| 5 il HFMIC HET TBH BE9(<5.7) 8.70 8.70
65[30| 12| 5 EJES Y = RET ZHE BEET(<6.8)| #HmHEET(<6.2) HWHET
66|30|12| 6 | ZOih b A = RET &I BEET(<7.7)| #BEET(<7.2)| #HBHET
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67|30| 12| 6 | Z#oith LY EL ] = R AT I BMHt9(<8.3)| ®HMHET(<7.1)| BHEET
68(30]|12|28| Zmith H A IXH = R AT 58H BEE(<8.3) REET(<7.4)| BEET
69(30|12|28| Zmit H A IXH FET 21187 BRHEEY(<8.2) RHRHEET(<7.2)| HHEET
7030|1228 2= i FEH ) I| T B 3°(<8.5) BHET(<7.3) BHEET
71|31 1| 4| o BT = RET b N2 B H9(<7.0) BHET(<6.5)| HBHEHET




